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Sl ZA-S o] 85to] 132 - 122 = 13 + 12 & AAtstgt}. o] of,

@ a® + 2ab + b* = (a + b)?
@ a® -2ab+b* = (a—b)?
® a®-b2=(a+b)(a-b)
@ x*+(a+b)x+ab=(x+a)(x+b)

® acx® + (ad + bc)x + bd = (ax + b)(cx + d)
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@ x*+2x-8=0[-2]

@D x? —4x = 3x[1]

@ 2x>-Tx+6=0][2

® (x+2)2=9x[2]

® 2x? - 15x -8 =0]8]



5. the oA 3 a7k ohe shik

o (vig)(e-g)=0 @ (Gra)(G-4)=0
® (Bx+1)(4x-1)=0 @ (4x+1)(3x-1)=0

® (6x+2)(8x-2)=0
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@® (0, 4), x=4 @ (0, —4), x=—4

® (0, 4), x=0 @ (4,0), x=4

® (4,0), x=0



Fy=ax®+bx+c9Y
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® 2,828,28 @ 3,73, 73,7
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9. o= 2"NA x & ZolE F5HH?

D 52 @ 62 B3 742 @ 82 ® 942
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® 9cm 3 8cm @ 7cm B 6cm
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11. cos60° x tan 60° + sin 60° = AHAFSHH?

D 2 ® 3 3 2 @ 242 G 24/3



12, ox A € = 90° Y of,
sin A 4 cos A 9] ZF-&?
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D 22cm @ 23cm 3 24cm @ 25cm B 26 cm
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